148+30:7, 904 W55+30:8, 504 W60+30:9, 104

W48:4,800 WS5:5,400 W60:6, 000

30:3, 000

i3

55:5,450 60 : 5,960

552,663 (2,808) [3,308]

2,355 (2,500) [3,000]

552,458 (2,603) [3,103]

60: 2,468 (2,

55: 2,844 (2,989) [3,489]
60 : 2,858 (3,003) [3,503]

6L g g ol J
- i V i i | |
[sovwal ¥ d ] [soowal [sovoal & 1
T T T T T
a [ a b(d) b(d)
BiA #isa 551,173 55: 3,100 551,177
V48:4,737_W55:5,337 W60:5,937 130:2, 937 60: 1,217 60 : 3, 400 601,283
BERTHER (84 : ) BERTHER (6 - mm)
g3 tMavy - rEELR 1RaYy ) - MEBEIAR poive 3 iRy ) - b EERRE tHavy - FERETIAR
M L it (kN m) 3t (kN mi) i A (kN i) W L i (kN mi) it (kN m) 3 A (kN mi)
3 50 100 30 50 100 30 50, 100 3 50 100 3 50 100 30 50,100
a-b a-b a-b a-h a-b a-b a-b a-b c-d c-d c-d ¢-d c-d c-d c-d c-d
@ 55 650 460 460 650 460 380 650 650 @ 55 - - - - - - - -
60 680 40 480 630 480 330 650 650 60 - - - - - - - -
80 55 810 510 510 810 510 380 700 00 -0 55 1100 1000 800 1100 700 550 1000 900
60 840 500 590 840 590 400 100 700 60 1100 1000 800 1100 700 550 1000 900
s5:00 55 850 600 600 850 600 400 700 700 s |9 1100 1000 800 1100 700 550 1000 900
60 900 630 630 900 630 420 700 700 60 1100 1000 800 1100 700 550 1000 900
0430 55 900 630 630 900 630 420 750 750 0430 55 1100 1000 800 1100 700 550 1000 900
60 940 660 660 940 660 420 750 750 60 1100 1000 800 1100 700 550 1000 900
( ) ATEIRH=2, 500054
L 1RHEIH=3, 000054
5 E| B 4 % R & 2D B &
- B | I%s DEEC AT - HEL AT =
******************************** 5o | = n [sdDaisen wxu c02s
77777777777777777777777777777777 ® T B | mmz  BENmME HOEEEy b &R ROKLHE

OOODDODDDOD



